PLANT ENTERPRISES PRODUCTION							
_	Number of		Yield per		Total	Units of	Gross Farm
Crop	Producers	Acres	Acre		Production	Measure	Value
FORESTRY							
Pulpwood							
Hardwood						cords	
Pulpwood (Total)					93		
Saw Timber							
Hardwood					102,659	board feet	
Saw Timber (Total)					102,659		
Total Pulpwood, Chip & Saw,	,						\$50,035
Saw Timber FOB Mill							
Total Forestry Stumpage							\$32,823
Forestry (Total)							\$50,035
FRUITS							
Citrus							
Navels	200	750.0	300.00		225,000	bu.	\$3,150,000
Satsumas	200	300.0	600.00		180,000	bu.	\$1,800,000
Other Citrus	200	25.0	300.00		7,500	bu.	\$75,000
Citrus (Total)		1,075.0					\$5,025,000
Fruits (Total)		1,075.0					\$5,025,000
GREENHOUSE VEGETABLE	ES						
Tomatoes	*	5,760.0	6.00	Yield / sq. ft.	34,560	lbs.	\$46,656
Greenhouse Vegetables (Total)		5,760.0					\$46,656
HOME GARDENS	3,500						\$1,050,000
NURSERY CROPS							
Fruit and Nut Trees	20					acre	\$2,500,000
Floraculture & Bedding Plants	10					acre	\$1,500,000
Woody Ornamentals	20					acre	\$500,000
Foliage Plants	10					acre	\$500,000

### ANT ENTERDRICED BRODUCTION

Page 1 of 5

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
Nursery Crops (Total)						\$5,000,000
PECANS						
Improved	6	10.0	100.00	1,000		\$1,300
Native	10	15.0	100.00	1,500	lbs.	\$1,500
Pecans (Total)		25.0				\$2,800
VEGETABLES						
Cabbage						
Fresh	10	40.0	600.00	24,000	sacks (50 lbs.)	\$168,000
Cabbage (Total)		40.0				\$168,000
Cauliflower	10	12.0	400.00	4,800	cartons (20	\$72,000
					lbs.)	
Cucumber					,	
Fresh	40	75.0	325.00	24,375	bu. (50 lbs.)	\$243,750
Cucumber (Total)		75.0				\$243,750
Eggplant	20	30.0	700.00	21,000	bu. (33 lbs.)	\$315,000
Garlic	*	10.0	5,000.00	50,000	lbs.	\$200,000
Mirliton	15	4.0	2,000.00	8,000	lbs.	\$16,000
Mustard (Fresh)	50	60.0	600.00	36,000	doz. bunches	\$252,000
Okra (Fresh)	15	10.0	350.00	3,500	bu.	\$87,500
Peppers				,		. ,
Bell	20	10.0	650.00	6,500	bu. (28 lb.)	\$97,500
Peppers (Total)		10.0		,	( )	\$97,500
Squash (Fresh)		1010				+- · j
Yellow Squash	15	15.0	325.00	4.875	bu. (45 lbs.)	\$73,125
Zucchini Squash	10	3.0	275.00	· · · · · · · · · · · · · · · · · · ·	bu. (45 lbs.)	\$9,900
Squash (Fresh) (Total)		18.0		020		\$83,025
Tomatoes (Field)	50	175.0	2,000.00	350,000	lugs (20 lbs.)	\$6,300,000
Turnips (Fresh)	10	25.0	600.00	-	doz. bunches	\$105,000

Page 2 of 5

PLANT ENTERPRISES PRODUCTION							
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value	
Vegetables (Total) TOTAL ALL PLANT EI	NTERPRISES	469.0				\$7,939,775 \$19,114,266	

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
AQUACULTURE							
Minnows	14	Acre	es in Prod.	4,771	lbs.	\$15,506	
Oysters **	309			705,300	sacks	\$12,102,948	
Soft-shell Crabs	*				doz		
Aquaculture (Total)						\$12,118,454	
FRESHWATER FISHERIES							
Crawfish (Wild) **	*				lbs.		
Freshwater Finfish **	28			130,182	lbs.	\$74,373	
Freshwater Fisheries (Total)						\$74,373	
MARINE FISHERIES							
Shrimp **	828			25,946,413	lbs.	\$26,400,475	
Menhaden **	*				lbs.		
Crabs **	195			2,178,723	lbs.	\$1,170,410	
Commercial Finfish **	436			381,091,698	lbs.	\$19,550,004	
Marine Fisheries (Total)						\$47,120,889	
FUR ANIMALS				1,994	pelts	\$14,636	
ALLIGATORS (WILD)				11,685	*	\$245,385	
TOTAL ALL FISHERIES &	WILDLIFE ENTERPR	ISES		-		\$59,573,737	

\*\* The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMA	<u>AL ENTERPRISES PRODU</u>	CTION		
Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
		100	head	\$44,289
		150	head	\$75,722
		120	head	\$67,089
		100	head	\$63,700
				\$250,800
		50	head	\$20,158
		150	head	\$69,761
		200	head	\$105,567
		250	head	\$149,500
				\$344,987
		400	head	\$254,800
		400	head	\$276,000
				\$530,800
		300	pair	\$285,000
				\$102,659
		40	head	\$36,738
60	No. Cows			\$1,550,983
*	30 No. Brood I	Mares 15	head	\$52,500
				\$52,500
65		180	head	\$270,000
				\$322,500
				,
	Number of Producers 60 *	No. Cows*30 No. Brood I	Producers Production Production   100 150 150   120 100 150   100 150 120   100 50 150   100 200 250   400 400 300   250 40 400   60 No. Cows 30   * 30 No. Brood Mares 15	Number of ProducersUnits of ProductionTotal MeasureUnits of Measure100 150 100 100 100head 120 100 100 100head 120 100 100 100 100100 100 100 100 100 100 100 100 

ANIMAL ENTERPRICES BRODUCTION

Page 4 of 5

ANIMAL ENTERPRISES PRODUCTION							
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value		
EXOTIC ANIMALS Deer/Antelope Exotic Animals (Total)	*	150 No. Animals		head			
TOTAL ALL ANIMAL EN	NTERPRISES				\$1,873,483		
PLAQUEMINES PARI	SH TOTAL				\$80,561,486		